Second Year B.Com. Examination, May/June 2009
(Revised SIM Scheme) (RSS)
BANKING THEORY AND PRACTICE

Date : 1-6-2009 Max. Marks : 90
Time : 2.00 p.m. to 5.00 p.m.

PART - A
Answer any three questions. Each question carries 15 marks.
1. Explain the traditional and modern functions of commercial banks.
2. Explain regulatory and promotional role of RBI in the Indian banking structure.
3. Explain primary and secondary general relationship between banker and customer.

4. Explain the precautions to be taken up by the bankers while dealing with the
accounts of

a) Minors
b) Married women

c¢) Partnership firms.

5. Explain the provisions of Banking Regulation Act 1949 with reference to
a) Licensing
b) Branch Expansion

c) Capital and Reserves
PART - B
Answer any three questions. Each question carries 10 marks.
6. Explain the merits of branch banking.
7. Explain selective credit control measures of RBI.

8. Explain the role of regional rural banks in promotion of Indian agriculture.

P.T.O.



9. Explain different types of crossing of a cheque.

10. What is forgery ? What precautions shall be taken by a banker to avoid cases of
forgery ?

PART - C

Answer any three questions. Each question carries 5 marks.
11. Mention any five differences between cheque and a bill of exchange.
12. Write a note on co-operative banks in India.
13. Write a note on banker’s right of general lien.
14. Write a note on bank rate policy of RBI.
15. Write a note on endorsement of cheques.
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